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Multiple Choice Questions

1. In the expression x = at + bt?, if x is measured by meters (m) and y by hours (h) , units of b would be,
1) m (2)mh™! (3)mh
(4) m*h (5) mh?
2, The length of a rectangular wooden block (W) is measured using vernier callipers. The figure shows the relevant

sections of the vernier callipers and the block. (Only relevant divisions in the vernier scale are shown.)
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If there is no zero error in the vemier callipers, then the length of the wooden block is
(1) 130 cm (2) 135 cm (3) 145 cm (4) 1.50 cm (5) 1.55 cm

3. Dimensions of a certain physical quantity when multiplied by [L]3 yield the dimensions of work. The physical
quantity would be

(1) force. (2) momentum.  (3) pressure. (4) mass. (5) velocity.
4, If (n—1) number of main scale divisions of a certain measuring instrument is divided into n vemnier scale
divisions, then the least count of the instrument in main scale divisions is
1 n n-1 _l w
m 1 @ 7 @ === @ 2=t ) <
5. - £ a Vand/in the following equation represent a force, an acceleration. a velocity 'and ‘a time respectively.
" :

F=ca-x Gy

‘The ratio
1) has the dimensions of acceleration. (2) has the dimensions ol mass.
(3) has the dimensions of work. (4) has the dimensions.of veloeity.
‘(5) is dimensionless.
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Figure shows the main scale, M, and the vernier scale, V, of a measuring instrument.

The least count of the instrument is

(1) 0.05 mm « (2) 0.10 mm (3) 0.15 mm
(4) 0.20 mm (5) 0.25 mm

Extended Vernier scale of a Vernier caliper is made by dividing 39 main scale millimeter divisions into 20
Vernier divisions. Least count of this instrument is,

(1) 0.01 mm (2) 0.02 mm (3) 0.05 mm
4) 0.1 mm (5) 0.5 mm

Which of the following pairs of physical quantities have the same dimensions ?
(1) Work and power.

(2) Stress and strain.

(3) Young's modulus and pressure.

(4) Coefficient of viscosity and surface tension.

(5) Forceand momentunz.

The vernier scale of a measuring instrument consists of 50 divisions. If those 50 divisions coincide with 49 1/2 mm
divisions of the main scale, least count of the measuring instrument would be,

(1 001 mm (2) 0.001 mm (3) 0.02 mm

4 0.002 mm (5 0.025 mm.

The total radius of a circular disc is 3r. The internal radius of the
coloured portion is r while its external radius is 2r.

Area of the coloured portion
Total area of the disc

equals to,
1 1 1
@) 5 (2) 9 3) s

2 4
@ 5 O
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